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1: (a) Mr. X took a loan of Rs 2,00 000 on whlch interest
is payable at the rate of 10% per annum: ‘Howev er,
he wants to start repayment only at the end of
third year from now. What should be the annual
payment if .the total loan and interest is to be
repaid in 6 instalments? S
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(b) State g'iving reasons whether the following

statements are true or false

(i) Profit it is not'an operationally feasible

criteria for financial decision making

(ii)-Payback period is a method of liquidity

rather than profitability (10)

C o OF
(a) Descri‘be"r-brieﬂy the major types of financial
management decisions that a firm makes. (5)

(b) From the folloWing ‘data calculate

~
/.

(1) _Operating,!Financ_ial_ and C_ombinéd leverage

’

(ii) The percentage drop in sales to make the

earnings per share zero

\ P.T.O.
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EBIT 6000000
Profit after tax | 960000
Fixed Cost . 1500000
Tax rate 40%
Preference dividend 240000

(10)

2. PQR Limited is considering the purchase of a machine
to replace an existing machine‘ithat has ;1 book value
of rupees 48000 and can be sold for Rs. 24000. The
salvage value of the old machine .in 4 years is zero
and it fis depreciatéd on a straight-line basis. The
propoSed machine will perforﬁl the same function tile
old machine is pcrforming however improvement in
technology will enabie the fi;m to reap cash benefits -
before depr.eciation and taxes of Rs. 120000 per year
in materials and labour, The new machine has a four-

year life, costs Rs. 250000 and can be sold for an
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cxpéctcd rupees 32400 at the end of the fourth ycaf.
The new machine will also requite an installation cost
of Rs. 50000 in the beginning and will be depreciated
on WDV method, tl;e rate being 25% per annum.
Assuming 40% tax rate, compute cash flows

associated with the replacement and suggest to the

company whether it shc_)ul‘d'gq.forr the replacement or -

not if its cost of capital is 10%. (15)

’-Or

XYZ Limited is evaluating a project to install a machine

system. It estimates that th_é ‘annual savings from

-

~ mechanization include a reduction of 5 clerical

employees with .a'rinuallﬂ salaries 7_of Rs. 30000 each,

Rs.. 1_6000 in material losses d'u;ing production, and

‘ Rs. 7000 in other. operating costs. The purchase price

P.T.O.
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o system 18 Rs. 2 lakh and the installation cog,
of the sY$ : ‘

Rs. 50000. Its useful life'is estimated at 5 yeqrq
are Rs. .

These outlays will be depreciated on a straight-]ine

basis to Rs. 20,000 book salvage value. Though it

market value at the end of 5 years will be zerg.

Operation of th¢ néw systcm requife; 'th§ services of
tWo t‘rained 6i)efafoi°s af an annué;l s'alary_ of Rs. 42000
per person. Als;o,uan'nﬁél maintenance and operating
cash expensés of Rs. 8000- are estimated to Be |
required.’-"f‘he company’s téx rate is 40% and 1ts ROR-
(‘cost‘ of »cA:apit‘alv) for th_ig projeét 1s 12%. You are
requircia.d~to calculate the proj ec_t’s'payllaack ﬁério'd and
NPV and suggest to the. coﬁlpény' Whether it should

purchase the system? ol s (15)

3. (a) Explain the behaviour of cost of debt, cost of equity

and overall cost of capital under. the traditional
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approach to capital structure. Is there an optimal

capital structure as per this approach? (5)

(b) XYZ Ltd. is cvaluating two financing plans.
Assuming a 50% tax rate and an expected EBIT

of Rs. 600000, determinc from the data givch below
(i) The EPS for each plan,

(i1) The financial break even points for each

plan,

(iii) . At what level:of EBIT would the company

bdi_ndifféfenfto which of these two plans

is selected. _ . : (10)
Plan A | Plan B
Bonds | , . | Rs 80000 at 10% | Rs 150000 at 10%
10% Preference 8000 shares of 4060 shares of
stock ' Rs 30 -:o'u Rs 40 each
Common stocks 20000 shares 24000 shares

P 0,
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ABC Ltd has the rollowing book value capital structyre

: . Rs in lakhs |
Equity capital (in shares of Rs 10 each fully paid up | 20 —
at par) | ' |

| | ' 10

Retained eamings

12% preference capital (in shares Rs 100 each fully |5

paid up at par) A
10% debentures (of Rs 100 each) ‘ 10
11% term loans ' 5

The ‘next expected'divideﬁd on ’shares 1s Rs. 4 p-er
sﬁafe, the dividend per shére i‘s e_xp,ec'tejd.tb’ grow at
thg rate of 8%. Th_@f ma;ket price pér. share is Rs. 40.
Prefcrence. stock rec}eemable- after 10 years 1is
.currently selling - at Ré'.’ 75 per. shére. Debentures
redeemable, afterl 6 years'are se‘!ling at Rs. 80 per
debenture, Incoine» tax rate for the company is 40%.
Compute the weigh"t’?d average cost of capital using

book valye Proportions,

(15)
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(a) Companies U and L are identical in every respect

except that U is unlevered while L has
Rs. 10,00,000 of 8% debt. EBIT of both firmis is
Rs. 6.00,000 and tax rate is 35%. Equity
capitalisation” rate for U is 10%. Calculate the
cost of equity and value of each firm aécording to

MM approach. )

(b) XY Z Limited was started a year ago with a paid-

up equity capital of rupees” 20 lakh. The other

details are as under:

Earnings of the company Rs 200000
Dividend paid Rs 160000
Price earnings ratio 125
Number of shares -1 40000

P.T.O.
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Find the market price of a share of the company
at this payout ratio using walter’s model. Is the

company’s dividend payout ratio optimum as per

walter’s model? Why? (10)

. Or

(a) What is ‘informational content’ of dividend
: pa}'rment? explain how it affects the share value.

(5)

(b) As per MM approach the payment of dividend
does not affect the value 6f the firm. Use the

~ data below to prove this statement.

Number of outstanding shares 20000
Eaming per share ' 110

P/E ratio ' 10

Ke | 10.10
Expected dividend per share S

New Investments 400000

(10)



3010 T

The cost sheet of PQR Ltd. provides the following
data :

Particulars | Cost per Unit (Rs.)
Raw Matenial 50

Direct Labour ‘ 30

Overheads, 20

Total Cost 100

Profits ' 20

Selling Price | 120

Average amount of backup stock is:

!
/

Raw matenals | ' two months

Work in progress (50% complete) half month

Finished goods one month

éredit allowed by suppliers: 611e mdnth; credit allowed
to debtors: two months. Average time lag in payment
of wages: 15 days; ‘average time‘lag in paymént of
bverheads: one nionth. 40% of the sales are on cash
basis, Cash balance expected to be Rs. 2,00,000.

You are required to prepare a statement of the

working capital needed to finance a level of the activity

)

P.T.O.



3010

12

of 84,000 units of output. Add 15% to your computed

estimate to allow for contingency. Production is carried

on cvenly throughout the year and wages and

overheads accrue similarly. State your assumptions, if

any, clearly. ' (15)

Or

(a) Explain in brief the non-synchronization cash flows

and short cost as factors in determining the cash

needs of a firm. ' (5)

(b) A firm has annual credit sales of Rs. 1500000. It

grants 2 months credit to its customer with no
cash discount facility. It intends to offer a discount
of ‘2/10 net 60°. It is expected that this will reduce

the average collection period to one month and

'50% of the customers. (in value) will take

advantage of this benefit. The selling price is
Rs. 10 while the average cost per unit comes to
Rs.8.6. You are required to advice the firm
regarding this new scheme presuming that the
required return on investment is 25% and one
month is of 30 days, = ' ~(10)
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